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5 16
.4:[f(x)= (2/3)J
L X i
SR
] 2 ] e
d=(f(x)=10x—4) 2=(f(x)=6x") P
A 20x° 1 v
3=(f(x)=28x -9x"+8x) A=1(x)= 3 3 S
21 5 I 4 5" i
S= P(X):2+«/;_—2x(3/2) 6= f(x)=—4x(9/4)+Sx(4/5)+5x(1/5)+ 1 SRR
Ans3 = 7= (P(x)= 36 2 g 25) g (f‘() 3x+2 x+3) ) ) a
J=(f(x)=36x"-28x-— S=|f(x)=
24/x }’l
9 [f() ! j 10 (f() 5(4x2_1)j @
I9=|f(x)=—""7 A0=|f(x)=—"F"
(2x-3) 24/x M
]]—(f( )_10x4+20x3—3x—24J ]2—(f( )_5x6—8x5—50x4+10x3+5x2—100xJ U
i =|f(x)= E A2=|f(x)= (x+2)2 _ 1IR3l
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o
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Diff02 Answers for No.12541

[ I=(f(x)=10x+3)]
2=(f(x)=12x%)

-31
[ f == 1= (f(4)=288) .1={f(4)=—}
Ansl = .3—(f()€)_ xz] B , AnS2=|:.2=(f(1)=_4):|, , Ans4 = 8

3 2=[f(2)=72]
.4=(f(x):—j
i Jx) |
2)
— 5 _ __‘.(_—
I=(f(x)=10x+3) 2=(f(x)=12x%) p
1
3=(f(x)=12x"=20x"+4x - 6x%) ,4:(f(x):x_§J Z
5 (f() ] 4) 6 [f() 1 : > 6x(1/5)J T
S= x)= - - 6= x)= - + +
2& x(s/z) 6x(5/6) 5x(11/5) 6x(1/6) 5 a1
Ans3 = —3x+44x -5
T 7o () =18 +4x+1420%) _8:(f(x):_ ] S
24/x t
) {f( : 29 j 1< ) 182" + 1 (Zl@
A=) == A0=|t(x)="7T
()6—5)2 2x(3/2) v
.y (f() 2x6—26x3—100] . (f() 20x6—28x5—147x4—72x3] U
. = X)= . = X)=
L x6 (x_3)2 A L L T__
2)
L (0
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Diff02 Answers for No.12590

[ I=(f(x)=10x+3)]
2=(f(x)=15x%)

5 1= (f(4)=96) . )
B _ __ = B ) |1 =[1(2)=44]
Ansl =| -3 (f‘(x) xz] , , Ans2= '2:(“3):34] , Ans4—[ }

2=[f(1)=-1]
.4=(f(x)zﬁ}

i
) X _ R
d=(f(x)=10x+3) 2=(f(x)=15x%) P
2x 5
3=(f(x)=6x"=20x"+20x"+3x%) .4=(f(x):?+g Z
! 3 6x 6 5 | LS
= f(x):_zx(s/z)_2+2 . 6= 1(x)= 5 _sx(11/5)_6x(11/6)_6x(7/6) __f;__
Ans3 = 3 ) 3x+24/x =2 , , a
7=(f(x)=100x"+20x +45x" +3) 8=|f(x)= :
24/x
, (f() 8 j PO PO 3+5x h
I=1tx)=—""—"7 A0=|1(x)=
= @
—10x* =51 x—24 5x°+18x° —12x" —48%° U
Al1=|f(x)= : 12=|f(x)= ;
L X (x+3) ] LT 1]
2
.

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KK KKK KKK KKKK KK KKK KKK KKK KKK KKK KK KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX KKK KEXXKKXXKXKXXME/1-6600506-00018XX
Diff02 Answers for No.1l2621

[ I=(f(x)=6x—-5)]
2=(f(x)=18x%)

6 1=(1(2)=72) 1 =[f(2)=580]
Ansl = .3:£f(x)=—x2J o, Ans2= ,2:(f(-3):24—7j’ ’ Ans4=[ .2=[f(1)=1]}

o]

A=(f(x)=6x-5) 2=(f(x)=18x%) |
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2
i
P
5 5 3
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3 ) IR ; 5 . s
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Ans3 = 3x+2+104/x
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x
0 (f() 17 ) 10— ) 27" + 1 é
I=f(x)=—"3 0=|f(x)=—""""
(4x-1) B by
; [f() 6x8—13x4—75j B [f() 4x5+8x4—30x3—54x2J U
. = X)= . = X)=
L x6 (_x—2)2 ] LL T 1]
2
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Diff02 Answers for No.l1l2641
[ I=(f(x)=8x—-3)]
2=(f(x)=6x
(f(x) 3) = (8(2) = 29) I =[f(2)=320]
= 3: fx = =" = T - = -9
Ansl (( ) sz , , Ans2 [.2=(f(2)=_1)}’ , Ans4 .2:[f(1):;}
1
.4=(f(x)=—j
i Vx|
2
d=(f(x)=8x-3) 2=(f(x)=6x") P
3=(f(x)=25x"-8x" -8 4=|f B3 d
3=(f(x)=25x"-8x" —8x) 4= (x)—zx—zx S
3 2 3 1 2 2 LS
NS f(X):_zx(3/2)_5+«/; 6= f(X)z_zx(5/2)+3x(2/3)+3x(1/3)_3x(5/3) __j:cl__
= -3x+6 +4
Ans3=| 7 (p(x)= 642> +96°2+ 56 x+12) .8=(f(x)=— B ] o ] @
24/x t
9 (f() = J 10 [f() x(7/2)(26x2+27)J (g
U= X)=—" . = X)=
(3x-2) 2 by
32x°+6x° —20x—10 16X —19x"—76x" =36 x° U
d1=|f(x)= ; 12=|1f(x)= 5
L X (x+1) i LL T 1]
2
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for No.12674
[ I=(f(x)=2x-3)]
2=(f(x)=9x)

|

( 5} 1 =(f(6)=540) | 0(2)— 2441
_| 3=|f0)=——= _ ] _|1=01(-2)=
Anst = R .2:(f(3)=£)’ ’ A"”‘[ 2=[f(1)=-4]
.4={f(x)= (2/3)J
L X i
I d=(f(x)=2x-3) 2=(f(x)=9x%) |
4 3 2 5 4 3 2
3=(f(x)=15x"+4x+6x —6Xx) 4= f(x):gx +-X —gj
2 507 2
'5:[f(x):f_x(3/2)_5j .6—[f(x)——5x(6/5)+ 2 +5x(3/5)_5x(7/5)J
T=(f(x)= 16X +33 5 +8x—4) .8:(f(x)=3x+6ﬁ+lJ o
24/x
, [f() 1 j P (f() 27x4—2J
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[ I=(f(x)=—4+2x)]
2=(f(x)=15x%)

21
_ __3 1 =(f(6)=432) ,]:|:f(4)=—}
Ansl = .3_(f(x)— sz 8 R Ansz:[.Z:(f(1)=-4) }, , Ans4 = 16
4_(“ - 5 ] 2=[1(2)=1240]
I 4= X _2ﬁ |

2
d=(f(x)=—-4+2x) 2=(f(x)=15x%) P
6 5 2 25 4 3 5 V
3=(f(x)=28x" -18x"+6x") 4= f(x)::x +3x —g S
S (f( : 3 1 IJ y (f( : 3 1 3 5 ] LS
S=|f(x)=- + 7=+ = f(x)= + - — &
2x(3/2) ﬁ 5x(2/5) 5x(4/5) 5{/215) 3x(8/3) ]
_ 3x+4+24x
AnS3= o (p(x) =40 F+69 % + 34 x + 4) .8:[f(x): j o “
24/x t
, (f() 13 J P [f() 27x4—2J h
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(1+5x) 24/x A@j
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o
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[ I=(f(x)=6x+2)]
2=(f(x)=6x")
3 _ _ _ _ =
Ansl = -3=(P(X)=——2] : ,Ans2=['1__(f(3)__162)}, , Ansd = '1_[“4)_16}
x 2=(f(1)=-6)
; 2=[f(-2)=1857]
A=|f(x)=—4
_ (”) ﬁ]_
R
R
[ I=(f(x)=6x+2) 2=(f(x) =61 ] 1;
3=(f(x)=35x"+12X +2x+5) 4=(f(x)=x"-x%) <
31 6 5 1 oex Y s
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Ans3=| 7=(f(x)=24x +39 > +42x+10) 8:[f(x):—_3x+4 x_1] . ]g
. N 2/\/; t
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